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QUESTION 1

Which two statements describe the Content Intermediation Engine (CIE)? (Choose two.) 

A. The CIE is responsible for the redirect function. 

B. The CIE is responsible for processing incoming requests and outgoing content. 

C. The CIE rewrites Web content. 

D. The CIE rewrites application content using Junos Pulse. 

Correct Answer: BC 

 

QUESTION 2

Which two tasks would be performed during initial configuration of the Junos Pulse Secure Access Service? (Choose
two.) 

A. Configure external interface. 

B. Create an administrator account. 

C. Create user accounts. 

D. Configure internal interface. 

Correct Answer: BD 

 

 

QUESTION 3

You want to use canonical formats to specify the following resource for a resource policy: 

1.1.1.1:80/employee/% 

Which directory path matches this resource? 

A. 1.1.1.1:80/employee/payroll/data.html 

B. www.hostname.com:80/employee/payroll/data.html 

C. 1.1.1.1:80/employee/data.html 

D. www.hostname.com:80/data.html 

Correct Answer: C 
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QUESTION 4

What are two characteristics of active/active clustering? (Choose two.) 

A. clustering of up to four nodes 

B. load balancing 

C. cluster synchronization using the external port 

D. failover using a virtual IP (VIP) address 

Correct Answer: AB 

 

QUESTION 5

You want to use Host Checker to verify that users have a specific version of application software. Which two Host
Checker rules in the Admin UI would achieve this? (Choose two.) 

A. Predefined RulE. OS Checks 

B. Custom RulE. Patch Assessment 

C. Custom RulE. Registry Setting 

D. Custom RulE. NetBIOS 

Correct Answer: BC 
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